Problem 1 e a b ab e e a b ab q a e ab b b b ab e a ab ab b a c (b). Then the group is commuting a = gag<sup>1</sup> for all gEG So each element forms it's own class · Since the group is commuting any . matrix of a rep commutes with its partners  $\left[ D(q), D(q') \right] = 0$ for all g'EG this says D(g) = > 1 by schurs lemma. Thus D(g) is reducable or is simply one dimensional.

e a b ab C 1 -1 -1 -1 a 1 - 1 6 | | - | - | | ab · We can easily see row orthogonality and column orthogonality e.g. comparing row (1) and row (2) |-| + |.| + |-(-|) + (-(-)) = 0comparing row (1) and row (1)  $|\cdot| + |\cdot| + |\cdot| + |\cdot(1) = 4 < n_{G}$ Similarly comparing column 1 and column 2  $|\cdot| + |\cdot| + |\cdot-| + |\cdot(-|) = 0$ 

d) Then 2  $(x, y, z, x, y, z, z) \longrightarrow (-x, y, -z, -x, y, -z, )$ (x, y, Z, x, y, Z) ~ (-x, y, y, Z, -x, y, Z,)  $(x, y, z_1; x_2, y_2, z_2) \xrightarrow{-2} (x, y_1, -2), x_2, y_2 - y_2)$ So as matrices (e) = 11 6×6  $O_{ab} = \begin{pmatrix} 1 \\ -1 \end{pmatrix}$ O(a) = | O | -1 | -1)-1 So  $\chi(e) = 6$ ×(ab)=2 0 (6) = -1  $\chi(a) = 0$ x(b)=0

e) Then Character analysis gives  

$$\begin{array}{c} \chi(q) = \sum_{n} a_{nn} \chi^{(n)}(q) & a_{n} = 1 \sum_{n \in \mathcal{A}} \chi(q) (\chi^{(n)}(q)) \\ & h_{c} = 3 \\ \end{array}$$

$$a_{(1)} = \sum_{n \in \mathcal{A}} (6 \cdot 1 + 2 \cdot 1) = 2 \\ \hline \\ \Delta_{(1)} = \sum_{n \in \mathcal{A}} (6 \cdot 1 + 2 \cdot 1) = 1 \\ \hline \\ \Delta_{(2)} = \sum_{n \in \mathcal{A}} (6 \cdot 1 + 2 \cdot 1) = 1 \\ \hline \\ a_{(2)} = \sum_{n \in \mathcal{A}} (6 \cdot 1 + 2 \cdot 1) = 1 \\ \hline \\ a_{(3)} = \sum_{n \in \mathcal{A}} (6 \cdot 1 + 2 \cdot 1) = 1 \\ \hline \\ a_{(7)} = \sum_{n \in \mathcal{A}} (6 \cdot 1 + 2 \cdot 1) = 1 \\ \hline \\ a_{(7)} = \sum_{n \in \mathcal{A}} (6 \cdot 1 + 2 \cdot 1) = 2 \\ \end{array}$$

$$(f) Then$$

$$(f) Then$$

$$(f) Then$$

$$(f) Then$$

$$(f) = \sum_{n \in \mathcal{A}} e^{(n)} =$$

Similarly  

$$\phi_{1}^{(3)} = 0$$
  
 $\phi_{1}^{(4)} = (\phi_{1} - \phi_{a}\phi_{1} - \phi_{b}\phi_{1} + \phi_{ab}\phi_{1})/4$   
 $(\phi_{1}^{(4)}) = ((1, 0, 0, +1, 0, 0))$   
One can check  
 $\phi_{1} = \phi_{1}^{(1)} + \phi_{1}^{(4)}$   
Picture:  
 $\phi_{1}^{(1)}$   
 $\phi_{1}^{(4)}$   
 $\phi_{1}^{(4)}$   
 $\phi_{1}^{(4)}$   
 $\phi_{1}^{(4)}$   
 $\phi_{1}^{(4)}$   
 $\phi_{1}^{(4)}$   
 $\phi_{1}^{(4)}$   
 $\phi_{1}^{(4)}$   
 $\phi_{1}^{(4)}$   
 $\phi_{1}^{(4)} + \phi_{1}^{(4)}$   
 $\phi_{2}^{(5)} = (0, 1, 0, 0, 1, 0)$   
 $\phi_{2}^{(5)} = 0$   
 $(\phi_{2}^{(5)}) = 0$   
 $(\phi_{2}^{(5)}) = (0, 1, 0, 0, -1, 0)$ 

$$\frac{\dot{\phi}_{2}^{(1)}}{\dot{\Phi}_{2}^{(1)}} = \frac{1}{1} \left( \frac{\dot{\phi}_{3}}{\dot{\Phi}_{3}} + O_{b} \frac{\dot{\phi}_{3}}{\dot{\Phi}_{3}} + O_{b} \frac{\dot{\phi}_{3}}{\dot{\Phi}_{3}} + O_{ab} \frac{\dot{\phi}_{3}}{\dot{\Phi}_{3}} \right)$$
Finally
$$\frac{\dot{\phi}_{3}^{(1)}}{\dot{\Phi}_{3}^{(1)}} = \frac{1}{1} \left( \frac{\dot{\phi}_{3}}{\dot{\Phi}_{3}} + O_{a} \frac{\dot{\phi}_{3}}{\dot{\Phi}_{3}} + O_{b} \frac{\dot{\phi}_{3}}{\dot{\Phi}_{3}} + O_{ab} \frac{\dot{\phi}_{3}}{\dot{\Phi}_{3}} \right)$$

$$= \frac{1}{1} \left( \frac{\dot{\phi}_{3}}{\dot{\Phi}_{3}} + O_{a} \frac{\dot{\phi}_{3}}{\dot{\Phi}_{3}} - O_{b} \frac{\dot{\phi}_{3}}{\dot{\Phi}_{3}} - O_{ab} \frac{\dot{\phi}_{3}}{\dot{\Phi}_{3}} \right)$$

$$\frac{\dot{\phi}_{3}^{(1)}}{\dot{\Phi}_{3}^{(1)}} = \frac{1}{1} \left( \frac{\dot{\phi}_{3}}{\dot{\Phi}_{3}} - O_{a} \frac{\dot{\phi}_{3}}{\dot{\Phi}_{3}}$$

Picture 1.2×rol ZXĨ we have inserted 1/2 so  $\vec{\psi}_{02} \cdot \vec{\psi}_{02} = 1$  $2\psi_{02} = 1(\cos\theta, -\sin\theta, \sigma', \cos\theta, \sin\theta, \sigma)$ ii) Clearly \$ 3 × 4 04  $\phi^{(3)} \propto -\tilde{\psi}$ (h)  $\overline{\psi}_{07} = \cos\theta \hat{\phi}_{1}^{(4)} - \sin\theta \hat{\phi}_{2}^{(4)}$ Then the orthogonal vector is clearly  $\Psi^{(4)} = \pm \sin \Theta \hat{\phi}^{(4)} \pm \cos \Theta \hat{\phi}^{(4)}$ We have normalized \$ (4) and \$ (4)  $\hat{\phi}_{1}^{(4)} = \prod_{i=1}^{n} (1,0,0;1,0,0)$ 

To show explicitly that 
$$\frac{1}{2}_{02}$$
 is a heigenmode  
we need to compute the "Hamiltonian" matrix;  
 $U = \frac{1}{2} \frac{2u}{2} q^{a}q^{b} = \frac{1}{2} \frac{4u}{4b} q^{a}q^{b}$   
 $= \frac{1}{2} \frac{2u}{6} (\vec{r}_{01} \cdot \vec{r}_{1})^{2} + \frac{1}{2} \frac{k}{(\vec{r}_{02} \cdot \vec{r}_{2})^{2}} + \frac{1}{2} \frac{k}{(x_{1} \cdot x_{2})^{2}}$   
Since  
 $\hat{r}_{01} = -\sin\theta\hat{x} - \cos\theta\hat{g}$   $\hat{r}_{02} = \sin\theta\hat{x} - \cos\theta\hat{g}$   
We have  
 $U = \frac{k}{(\sin^{2}\theta + 1)x_{1}^{2}} + \cos^{2}\theta y_{1}^{2} + 2\sin\theta\cos\theta x_{1}y_{1}$   
 $+ (\sin^{2}\theta + 1)x_{1}^{2} + \cos^{2}\theta y_{2}^{2} - 2\sin\theta\cos\theta x_{2}y_{1} - 2x_{1}x_{2}$   
So the matrix  $H\frac{1}{2}_{02}$  reads  
 $\frac{\int s^{2}+1}{sc} \frac{sc}{0} - 1 \frac{1}{0} \frac{0}{0} \frac{c}{(s)} \frac{c}{(s)} \frac{1}{(s)} \frac{1}{$ 

As described above, the orthogonal vector is  

$$\mathcal{W}_{1}^{(4)} = \sin\theta \; \hat{\phi}_{1}^{(4)} + \cos\theta \; \hat{\phi}_{2}^{(4)}$$
  
where  
 $\hat{\mathcal{W}}_{1}^{(4)} = \int (\sin\theta, \cos\theta, \theta', \sin\theta, \cos\theta, \theta)$   
 $\frac{1}{\sqrt{2}}$   
(i) The Oscillation frequency is  
 $\omega_{\chi} = \int k_{\chi} \quad \text{where} \quad k_{\chi} = \tilde{\mathcal{W}}_{1}^{(4)} \cdot H\tilde{\mathcal{W}}_{1}^{(4)}$   
Straightforward algebra showes  
 $\tilde{\mathcal{U}}_{1}^{(4)} \cdot H\tilde{\mathcal{U}}_{1}^{(4)} = k$   
So  
 $\omega_{1}^{(4)} = \int k$ 

(i) We now write the hamiltonian in the  
basis 
$$\overline{\Phi}^{(1)}$$
 and  $\overline{\Phi}^{(1)}_{2}$  which are displayed  
below  
 $\overline{y}_{1} = \overline{\Phi}^{(1)}_{1}$   $\overline{\Phi}^{(1)}_{2} = \overline{y}_{2}$   
Then we have  
 $H_{ab} = (\overline{y}_{a}^{c} + H\overline{y}_{a}^{c}) = (2 + s^{2} - sc)_{sc} - c^{2})$   
 $= 3 \Omega + (3 - cos^{2}\theta)\sigma^{2} + 1 \sin 2\theta \sigma^{2}$   
 $= 3 \Omega + (3 - cos^{2}\theta)\sigma^{2} + 1 \sin 2\theta \sigma^{2}$   
 $= 3 \Omega + (1 - [\cos 2\theta]\sigma^{2} + 1 \sin 2\theta \sigma^{2})$   
From which we read  
 $(\omega_{2}^{2} = (3 \pm \sqrt{\frac{5}{2} - cos^{2}(2\theta)}) \cdot \frac{k}{m}$   
where  $\frac{5}{2} - cos^{2}\theta = (1 - \frac{1}{2}cos^{2}\theta)^{2} + (\frac{1}{2}\sin^{2}\theta)^{2}$ 

## Problem 2. Inner product

For definiteness consider the canonical  $D_3$  (or triangle) group that we discussed in class in two spatial dimensions. Take a inner product of two functions as simply

$$\langle f, h \rangle = \int d^2 \boldsymbol{x} f^*(\boldsymbol{x}) h(\boldsymbol{x})$$
 (19)

For example  $f(\boldsymbol{x})$  might be  $f(\boldsymbol{x}) = \exp(-x^2 - y^2)$  and  $h(\boldsymbol{x}) = \exp(-x^2 - (y-3)^2)$ . It is clear that if we rotate both of these functions by  $2\pi/3$  and compute their inner product again we will get the same answer

(a) Prove this statement, i.e. prove

$$\langle O_{r_1}f, O_{r_1}h\rangle = \langle f, h\rangle \tag{20}$$

We say that the inner product is invariant under the operations of the group if

$$\langle O_g f, O_g h \rangle = \langle f, h \rangle \tag{21}$$

for all elements of the group.

We recall that the action of a group in a function is given  $\mathcal{O}_q f(\vec{x}) = f(g^{-t}\vec{x})$  $(O_{r,}f, O_{r,}h) = dx f^{*}(g'x)h(g'x)$ 

In this case the representation for the inverse of rotation in the coordinate space is given by Ω  $\left( \left( \left( \left( \left( -\frac{1}{2} \right) \right) - \left( \cos \frac{2\pi}{3} \right) \right) - \sin \frac{2\pi}{3} \right) - \sin \frac{2\pi}{3} \cos \frac{2\pi}{3} \right)$ 

Therefore, we can do a transformation of the prévious integral  $\vec{x}' = D(r, \vec{\cdot}) \vec{x}$ coordinates in  $\Rightarrow \langle O_r, f, O_r, h \rangle = | dx' | bet J | f^*(x') h(x')$ but in this case [det J(= [det (cos] sing cos]) = 1  $\Rightarrow \langle 0_{r}, f, 0_{r}, h \rangle = | d^{2} \chi' f^{*}(\vec{\chi}') h(\vec{\chi}') = \langle f, h \rangle$ 

(b) Let  $f_a^{(\mu)}(\boldsymbol{x})$  transform as a row (i.e. row *a*) of an irreducible representation (i.e. representation  $(\mu)$ ) of the group, i.e.

$$O_g f_a^{(\mu)}(\boldsymbol{x}) = f_b^{\mu}(\boldsymbol{x}) D_{ba}^{(\mu)}(g)$$
 (22)

Use part (a) to show that

$$\left\langle f_a^{(\mu)}, f_b^{(\nu)} \right\rangle = C^{(\mu)} \delta_{\mu\nu} \delta_{ab} \tag{23}$$

where the coefficient  $C^{(\mu)}$  is independent of row, but does depend on the representation. Express  $C^{(\mu)}$  using inner products of  $f_a^{(\mu)}$ .

Use the "colorful" slides from class to heuristically explain this result.

Since the inner product is invariant under representations  
of the group we have  

$$\langle \int_{a}^{(\omega)}, \int_{b}^{(\omega)} \rangle = \frac{1}{N_{g}} \sum_{g} \langle Q_{g} \int_{a}^{(\omega)}, Q_{g} \int_{b}^{(\omega)} \rangle = \frac{1}{N_{g}} \sum_{g} \langle f_{e}^{(\omega)}, f_{d}^{(\omega)} \rangle \sum_{cd} (D_{ca}^{(\omega)}(g))^{*} D_{db}^{(\omega)}(g)$$
  
 $= \sum_{cd} (f_{e}^{(\omega)}, f_{d}^{(\omega)}) \sum_{hg} (D_{ca}^{(\omega)}(g))^{*} D_{db}^{(\omega)}(g) = \sum_{cd} (f_{e}^{(\omega)}, f_{d}^{(\omega)}) \int_{cd} d_{ab} d_{\mu\nu}$   
 $= \sum_{c} \langle f_{e}^{(\omega)}, f_{e}^{(\omega)} \rangle \int_{ab} d_{\mu\nu} = C_{\mu\nu} d_{ab}$   
where  $C_{e}^{(\omega)} = \sum_{c} \langle f_{e}^{(\omega)}, f_{e}^{(\omega)} \rangle$ 

the slides, we see that in a basis determined A the nesentations and the rows of each representation. of the f Chink the aSe an PORIZ

(c) Let the Hamiltonian  $\mathcal{H}$  commute with the operators of the group

$$O_g \mathcal{H} O_g^{-1} = \mathcal{H} \tag{24}$$

Show that

$$\left\langle f_a^{(\mu)}, \mathcal{H} f_b^{(\nu)} \right\rangle = h^{(\mu)} \delta_{\mu\nu} \delta_{ab}$$
 (25)

where  $h^{\mu}$  is independent of *a*. Express  $h^{(\mu)}$  using inner products of  $f_a^{(\mu)}$  and  $\mathcal{H}$ .

Since in this group we know that the inner product is  
invariant under the group operations we can see that  

$$\langle f_{a}^{(\mu)}, \mathcal{H} f_{b}^{(\nu)} \rangle = \frac{1}{1} \sum \langle O_{g} f_{a}^{(\mu)}, O_{g} \mathcal{H} f_{b}^{(\nu)} \rangle = \frac{1}{N_{g}} \sum \langle O_{g} f_{a}^{(\mu)}, \mathcal{H} O_{g} f_{b}^{(\nu)} \rangle$$
  
Where we used the commutation of  $\mathcal{H}$  with  $g$  in the best  
inequality. Now, using the results from b) we see that  
 $O_{g} f_{a}^{(\mu)} = \int_{c}^{(\mu)} \mathcal{D}_{ca}^{(\mu)}(g) = \int_{c,d}^{(\nu)} \mathcal{D}_{db}^{(\nu)}(g)$   
 $\Rightarrow \langle f_{a}^{(\mu)}, \mathcal{H} f_{b}^{(\nu)} \rangle = \frac{1}{N_{g}} \sum \langle f_{c}^{(\mu)}, \mathcal{H} f_{d}^{(\nu)} \rangle \sum_{c,d} (\mathcal{D}_{ca}^{(\mu)}(g))^{*} \mathcal{D}_{db}^{(\mu)}(g)$   
 $= \sum_{cd} \langle f_{c}^{(\mu)}, \mathcal{H} f_{d}^{(\nu)} \rangle \int_{cd} \int_{ab} \int_{\mu\nu} = \sum_{c} \langle f_{c}^{(\mu)}, \mathcal{H} f_{c}^{(\mu)} \rangle$   
where we express  $h^{(\mu)} = \sum_{c} \langle f_{c}^{(\mu)}, \mathcal{H} f_{c}^{(\mu)} \rangle$ .